Exit Ticket O1 - Units of Measure

Correct Answer: ABCD
Explanation:

Three of the following involve sensible units and one does not. Which one does not? | sssssssssssssssssssssssasssnassnmassnaasssaassnassssussnanssnnnssnnnnnnnns
A The distance from London to Barcelona is approximately 1140km.
B The length of a pencil is approximately 7 inches.

€ The mass of an adult elephant is approximately 5 tonmes. | mewe e

D The volume of the petrol tank in a medium-sized car is 600 cm?

AQAZ F‘? Correct Answer: ABCD

Explanation:

How many centimetres are there in 3.7 metres?

0.037 0.37 ar 370

AQAH Correct Answer: ABCD

Explanation:
How many milllitres are therein 1 litre? | saassssssssssssssssssassassasaasana s anasaaaataaastatesansanasansannnans
A B C D
0.001 10 100 1000
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